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QUESTION 1

What is one reason to choose a Single Cloud Environment over a Multicloud Environment? 

A. The shared security responsibilities between the Cloud provider and the Cloud consumer is easier to define in a
Single Cloud Environment 

B. Vendor lock-in policies are negotiable 

C. A Single Cloud Environment is always more cost effective in comparison to Multicloud 

D. The risk of vendor lock in is reduced with a Single Cloud Environment 

Correct Answer: C 

Reference: https://www.stratoscale.com/blog/it-leadership/cloud-clouds-choose-single-multi-cloudapproach/ 

 

QUESTION 2

What tool should be used to transmit encrypted traffic between two VPCs in IBM Cloud that are each in a different
region? 

A. Secure Gateway for VPC 

B. Firewall1 for VPC 

C. VPN for VPC 

D. Hyper Protect for VPC 

Correct Answer: C 

Reference: https://cloud.ibm.com/docs/vpc?topic=vpc-using-vpn 

 

QUESTION 3

Which database design provides flexible schemas for the storage and retrieval of data beyond traditional table
structures? 

A. Relational 

B. Transactional 

C. SQL 

D. NoSQL 

Correct Answer: D 

NoSQL, which stands for "not only SQL," is an approach to database design that provides flexible schemas for the
storage and retrieval of data beyond the traditional table structures found in relational databases. 
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Reference: https://www.ibm.com/cloud/learn/nosql-databases 

 

QUESTION 4

When creating a file share using IBM File Storage, which statement is true? 

A. A user must provision at least two SATA disks for HA share 

B. Storage starts at 0KB and it automatically grows as data is written 

C. File share size can range between 20GB and 12TB 

D. The minimum size of a file share is less then 10GB 

Correct Answer: C 

Reference: https://cloud.ibm.com/catalog/infrastructure/file-storage 

 

QUESTION 5

What is a key feature of Virtual Private Cloud? 

A. It is deployed on-premises for increased security 

B. Applications are automatically deployed across three zones 

C. To run an isolated environment within the public cloud 

D. Network traffic between VSIs on the private network is charged for 

Correct Answer: C 

Reference: https://cloud.ibm.com/docs/vpc-on-classic?topic=vpc-on-classic-about 
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